
640 DUKE-E <1998><GB><972284>
LIGHTING SYSTEM

24922

Pos Part Number Description Additional Text Quantity

0 58311112000 FLASHER REAR L/S / FRONT R/S 1.00

0 58311121100 FLASHER SUPPORT R/S DUKE'94 1.00

1 58311012000 FLASHER FRONT L/S / REAR R/S 1.00

3 58311013000 FLASHER LENS L/S AND R/S 2.00

4 44111015100 BULB 12V 10W (BA15S) 4.00

7 0125100003 washer DIN 125 A 10.5 ONLY FOR 640 DUKE 2.00

8 0797100003 LOCK WASHER DIN6797-J10,5 ZI 2.00

9 0934102003 HEXAGON NUT DIN0934-M10X1,25 2.00

15 50211412000 FLASHER FRONT L/S - FRONT R/S 2.00

21 50211413000 LENS FOR FLASHER '93 2.00

22 0912060203 AH SCREW DIN0912-M 6X20 2.00

23 0125060003 WASHER DIN0125-A 6,4 4.00

24 0912060123 AH SCREW DIN0912-M 6X12 2.00

25 58311021100 FLASHER SUPPORT L/S DUKE'94 1.00

26 31008060000 rubber grommet D=8mm open 2.00

30 58311040000 REAR LIGHT CPL. CEV 358 '93 1.00

31 58311041000 LENS '93 1.00

32 57011045000 BULB 12V 21/5W (BAY15D) 1.00

33 0985060003 Self lock. nut DIN985-M6-A2 2.00

34 0021060003 Washer DIN9021-A 6.4 ONLY USA 2.00



35 58011039000 SPACER BUSHING 6,5 X 8 X 7 2.00

36 31008060000 rubber grommet D=8mm open 2.00


